R REBRIRE

BRSH

NEAEEE
I E(T L)

& MEERIFEEAHEL@ 360°)
B KW

PR

RATEEM

PRIE A = R R
18R AR R R
PRIEIE N R IBIER
BEERXNREEBLR
AHESRARERK

MTTFd /MTBF

R s
THRARERIRAFE(typ.) REER
TiH A BRBAFE(typ.) BEERX
kS NN Rk =
WHREABRAR

R AR M R R

BSE G

BREGEEBE

BAEERED

BREYGEEE

TR

BRERE TR HE
BRELBBE TR

BRERE TRE[
BRELBREBE TR

PR ES B

P AEE

Brir &5

RhFEw

T MR EG 4480)

T M0 i 1758 E (7 B 2 8 4%)

IEC 68-2-6 #&3I(Amax = 0.75mm, f=5 ... 2000 Hz)

IEC 68-2-27 i

HEE

EN 55022 class B, Emission radiated (30... 230 MHz)

EN 55022 class B, Emission radiated (230...1000MHz)
EN 61000-4-2, ESD (contact discharge / air discharge)
EN 61000-4-3, Immission HF radiated (80... 1000 MHz)

EN 61000-4-4, Burst (on all lines)
EN 61000-4-5, Surge (lines to ground)

EN 61000-4-6, Immission HF conducted (0.15...80MHz)

EN 61000-4-8, Immission magnetic field (50Hz)

IEC 60393-1 Insulation resistance (500VDC, 1bar, 2s)
IEC 60393-1 Dielectric strength (VAC, 50Hz, 1min, 1bar)

TEL:400-900-8812 3BT : 18017400327

o

% of meas. range
% of meas. range
bit

kHz

kHz

LS

Ls

pom/°K

years

7a

mA

mA

kOhm

nF

mm?

mm?

mm?

mm?

movements
°c

°c

g

g

aBuVv/m)
aBuVv/m)
144

V/im

KV

144

Vemk
A/m
GOhm
144

MH-C MH-C2

0... 360
+0.3
+0.5

0.1

4

0.1

2.2
(0.55)
400
(600)

25

668 /668
5(=10%)
4

©)

yes
Wires (5x)
0.56 (AWGZ20)
Cable 6pole
0.25 (AWG24)
yes

Wires (10x)
0.25 (AWG24)
Cable 10pole
0.09 (AWG28)

360 (continuous)
P68

no limitation

-40 ... +125

-40 ... +85

50

200

max. 30
max. 37
+4 /48
30

£

EY

70

30

20

www.jjx88.com

Vert-X 37E - 5V / SPI

gt

Roll W%
BN
ARl A4
BHRARER

FRER

B &% P68
FEAERIT
A= B 5 E
REBF®

BREENE
BEAFEHRENA
(RE,BR, RALRIE)
ERELSEETEANE D H#
R

CONIELEC

A company of the Siedle-Group

luck@jjx88.com



A

3

="
=
|c

Vert-X 37E - 5V / SPI
TR
S B/ E)
2 tRfE & 4%10pole
7 A[i%& 44 5pole / 6pole
9 Ak SRR Rk L8
BEEE/ BB
145 B B4 10pole
A 6 Wik B 848 6pole
1E [ 88 B CWHR 1 9 Tl IR B L AT BRI L
E @48 CCWH %2
TR, EM#E CWAlE3 .
TUR, EE A #E CCWHik4 éﬁ%ﬁimm
TR, RRES ML LS 03 T 300m
05 #5 A 50cm
WEES 99 Wik HHRKE
SPI Standard 8
BHEKE
02 #5 1.0m
06 A% 3.0m
fiteg Bk 10 A% 5.0m
5VDC Standard 2 09 Wik S HKE
Vert-X 3 7 E 4 7 3 6 2 8 1 0 5
BEEA
36 S E FA360°
xxH %03 to 35; Declaration in 10° steps
QI IERHHKBRKEA
HLRRRE
7 MH-C
LA M R A
37E1 Wik Al AR R % size 13 ; BitE AT HlMtype 1
37E2 Wi AR R $size 13 ; BiEHITHl Mtype 2
37E4 ¥R IR R ¥Esize 13 ; REMEHITHLA type 4
37E9 Wik BB NT BB RTIG
MH-C MH-C2 .
N 7= ] == 3]
ST 08 04T 44T p ik (BEESER)
TS X :
Tl 848/ &4 X -
P8R SRR X -
FFRIPRETTL (max. 2) X )
AR AR - -
BERBSEA TE30°t0360° (BRI X -
BRERATRE (M) - -

BB R ML QANRE (& L)
BE¥ B ECW/CCW AR E / Al 4wis (ML L M)
REIRARE ThRiE (BN LK H )

TEL:400-900-8812 4BT : 18017400327

www.jjx88.com

CONIELEC

A company of the Siedle-Group

luck@jjx88.com



Finbaumass ~ Ltdz
working position 16
M5 S ini
- 21, 3
\ —H 16
o < Hir -
o 1 [ —
Lo [ | a
g =
B & AT
e T ¥~
™M m1]
Ty TH
r S
|l ] #hTiefe 5 12
g 26 19,4
Finbaumass ¢ il i, s
S 13 working posilion |4 g
21,4
AT T4 16
5 o U -—
= N i I
ST Rl @ —
BRI |y O S
S 2 e Y
l =l H
B e S
gh Tiefe b 12
826 24

|
i &

L

c

i,i._

Vert-X 37E4 xxx xxx 2xx
Vert-X 37E4 xxx xxx 7xx

B (incl.)
1Ix BEXRF
2x T FE R EL R IR 4 M5x12

THEME(Z) M BTN
RAR AR
SERERFER

Vert-X 37E4 xxx xxx 1xx
Vert-X 37E4 xxx xxx 6xx

B 4 (incl.)
Ix BERXRT
2x g ST R4 M5x12

THEMEZ) M BTN

RAAFHE
SERERR

CONIELEC

A company of the Siedle-Group

TEL:400-900-8812 4PT : 18017400327 www.jjx88.com luck@jjx88.com



Finbaumass ~ [rdz
W1 working position 1,6
B |
[ =Tl S8
il 7
= oo | i g g"
_
S| oq CHE v 1
s TH 1
1 Nyl
‘ = 4]
‘\4®5Tief95 12 165
. 826 19,4
. Finbaumass L EE
.;SW 10___ working position 16
-l 4
Q — - o8
f'\/ L] — 11 HE=Ss
- o o1 <CHAR i
» S\ 3l \ 0 %‘
[ ! | o Y —
| @ ) e 1 Ul [
N 2| !
‘w’/ ™ JT L 1
| sy n
\m/ L=
#5 Tiefe 5 g2 1)
826 i

-

f- x_m

Vert-X 37E1 xxx xxx 2xx
Vert-X 37E1 xxx xxx 7xx

B4 (incl.)
1Ix BIERF
2x R & 1R 4 M5x12

THENVEZ) M EERTHIE
RR AV
SEREER

Vert-X 37E1 xxx xxx 1xx
Vert-X 37E1 xxx Xxx 6xx

B2 4 (incl.)
1x BEXRF
2x T FE R L IR 44 M5x 12

THRMEZ) M BEHRTHG

RAAFHE
SERERFR

CONIELEC

A company of the Siedle-Group

TEL:400-900-8812 4PT : 18017400327 www.jjx88.com luck@jjx88.com



Einbaumass / tdz
working position g
1 6_"_“‘_
=M5 i NE
) “THH o
u—) OZ} |7 1 ‘l II‘H “ Jl J
" = —
g R
<8 sHAS aka my wil ig
- AT o
™ 1H
" S‘r _el’- :_
. - 10,5
o | @5 Tiefe 5 T2 MEREN
. #25 19,4
Einbaumass ‘Z +dz _
3x M3 warking position B
—q— ’IJEJ = <=}
= |3
T T o HE =
o] 5
L[_) Dg_ r 1 ‘l H‘II ‘F k
" | | o0 ”__u (\I“Lo
ST AT M= T el lsls
s | @ LJ‘E 1@‘ =2y il i
- P
™M JT 1
| =y nui
—+- = 10,5
| 5 Tiefe b 12 NN
g6 24

Vert-X 37E2 xxx XXX 2xx
Vert-X 37E2 xxx XXX 7xx

B2 4 (incl.)
1Ix BEXRF
2x iR E IR 4 M5x12

THEUEZ) M EERTHIE
RKR AV
SERERFER

Vert-X 37E2 xxx xxx 1xx
Vert-X 37E2 xxx xxx 6xx

B4 (incl.)
1x BEXRF
2x TR SR 4 M5x12

TRE(Z) M #ERITHN

BRARAFHE
SERERFER

CONIELEC

A company of the Siedle-Group

TEL:400-900-8812 4PT : 18017400327 www.jjx88.com luck@jjx88.com



-
e

=
Vert-X 37E4
TERER
THLEQZ)
= MH-C 3.85mm
—+I MH-C redundant 4.35mm
™~
i R ATHATRA 2 4850
dx +0.25mm
dy +0.25mm
dz +0.5mm
Vert-X 37E1
REREER
ITHEMEZ)
MH-C 4.95mm
MH-C redundant 5.45mm

BT R K A FED

' 1
; / dx +0.25mm

dy +0.25mm
dz +0.5mm

/ E_dz

CONIELEC

A company of the Siedle-Group

TEL:400-900-8812 4PT : 18017400327 www.jjx88.com luck@jjx88.com



|
P

Vert-X 37E2
RERER
IHEEEEZ)
N MH-C 6.45mm
Iy | MH-C redundant 5.95mm
- 7
A I{/ : | B RATHAI B A A V80
| - dx +0.25mm
] dy +0.25mm
// dz +0.5mm
i
; “1’" g
e
/////
|
Vert-X 37E
- 50
Q
o , oL
Lo
s i
¥ ,
. . g -
i - ‘
. $33,8

35
1,5

CONIELEC

A company of the Siedle-Group

TEL:400-900-8812 4PT : 18017400327 www.jjx88.com luck@jjx88.com



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7



